
ORIGINAL QUESTION PAPER OF NURSING ASST. IS ALSO SET IN 
HINDI LANGUAGE, HOWEVER HERE IT IS SET IN ENGLISH 

LANGUAGE ONLY 
 

SAMPLE QUESTION PAPER – NURSING ASSISTANT 
 

PART I 
GENERAL KNOWLEDGE 

Choose the correct answer:-                                            (15 x 2 = 30 Marks) 
1. PV Sindhu is associated with which of the following games ? 

  
(a)     Badminton                          (b) Tennis 
(c)     Shooting                               (d) Archery 

2. The oldest oil Refinery in India is -   
  
(a)     Digboi                                             (b) Haldia 
(c)     Koyali                                  (d) Noonamati 

3. Nobel Prizes are not given for which of the following fields ? 
  
(a)     Physics                (b) Chemistry 
(c)     Peace                              (d) Music  

4. Which of the following is not correctly matched ?   
  
(a)     Pt Ravi Shankar - Sitar                    (b) M.F. Hussain - Tabla 
(c)     R K Narayan-Novel                (d) Kaifi Azmi - Poetry  

5. International day of Yoga is celebrated on……………….    
  
(a)     01 Dec                               (b) 21 Jun 
(c)     10 Dec                                (d) 02 Oct  

6. When is the ‘International Women’s Day’ observed ? 
  
(a) March 8                      (b)       February 14  
(c) May 10             (d)       October 2  

7. Who was properly known as the “Nightingale of India” ?   
  
(a)     Vijayalaxmi Pandit                 (b) Lata Mangeshkar 
(c)     Sarojini Naidu                         (d) Nur Jahan 

8. ‘The Dronacharya Award is associated with - 
  
(a)     Science                                  (b) Art 
(c)     Sport                                                (d) Social work 

9. Where are the Dilwara Temple’s located ? 
 (a)     Mysore                                            (b) Somnath 
 (c)     Indore                                              (d) Mt. Abu 

10. The largest deposits of uranium in India are found in - 
  
(a)     Kerala                           (b) Rajasthan 
(c)     Bihar                                         (d) None of these  



PART II 
                                                    BIOLOGY 

 
Choose the correct answer:-                                                 (15 x 2 = 30 Marks) 
 

11. In laboratory nitrogen is prepared by - 
  
 
(a)     NH4CO3                                        (b) NH4Cl & NaOH  
(c)     NH4Cl &NaNO3                                (d) CaCl2 & NaOH  

12. Nessler’s reagent is - 
  
 
(a)     KHgI4                                          (b) K2HgI4 
(c)     KHgI4                                          (d) KHg4I  

13. The gas used in extinguishing fire is - 
  
(a)     SO2                                              (b) NO2 
(c)     CO2                                          (d) H2  

14. Fill in the blank of the equation 
Na2CO3 + 2HCl          ………. +CO2 + H2O 
  
(a)     NaCl                                           (b) Na2Cl2 
(c)     2NaCl                                             (d) HCl 

15. Reduction involves -  
  
(a)     Gain of electrons                              (b) Gain of Protons 
(c)     Loss of electrons                              (d) Loss of protons 

16. Treatment of Rabies was discovered by - 
  
(a)     Lord Lister                                       (b) Ronald Ross  
(c)     Louis Pasteur                                     (d) Edward Jenner  

17. Organisms which consume only other animals are called………….  
  
 
(a)     Carnivores                                        (b) Omnivores 
(c)     Herbivores                                        (d) None of these  

18. The edible portion of cauliflower is - 
  
(a)     Leaf                                        (b) Root 
(c)     Stem                                        (d) None of these  

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

19. The largest endocrine gland in the body of a man is - 
  
 
(a)     Pituitary                                       (b) Thyroid  
(c)     Adrenal                                             (d) None of these  

20. Chlorophyll is present in - 
  
 
(a)     Xylem                                         (b) Phloem 
(c)     Root                                         (d) None of these  

21. Chinese method of treating diseases by needle is called - 
  
 
(a)     Acupuncture                             (b) Numbing 
(c)     Anabiosis                                        (d) Herbal  

22. The best source of protein out of the following is - 
  
 
(a)     Fish                                             (b) Beans 
(c)     Apples                                         (d) Butter  

23. Beri – Beri is caused by the deficiency of vitamin : 
  
 
(a)     A                                              (b) B 
(c)     D                                             (d) C 

24. Insulin is used in the treatment of : 
  
 
(a)     Diabetes                                           (b) Pyorrhoea 
(c)     Malaria                                              (d) None of these 

25. Penicillin was discovered by - 
  
 
(a)     Alexander Flemming                        (b)  Louis Pasteur                                     
(c)     Edward Jenner                                 (d) Leeumen Hock  



 
PART – III 

CHEMISTRY 
 

Choose the correct answer: -                                                (15 x 2 = 30 Marks) 
 

26. The weakest bond among the following is ___ 
  
 
(a)  Ionic                             (b) Covalent 
 

(c)  Metallic                              (d) Hydrogen  

27. Which is the most powerful Oxidising agent among the following ? 
  
(a)     I2                                          (b) F2  
 
(c)     Br2                                         (d) Cl2  

28. What is the colour of liquid Oxygen ?   
  
(a)     Pale Blue                                  (b) Dark Blue 
 
(c)     Pale Yellow                      (d) Colourless  

29. Cathode rays are streams of which of the following ? 
  
(a)     Protons                               (b) Electrons 
 
(c)     Positrons                               (d) None of these 

30. Urea is which of type of a fertilizer ?  
  
(a)     Nitrogenous Fertilizer              (b) Phosphate Fertilizer 
 
(c)     Potash Fertilizer                           (d) None of these 

31. Which gas is used for refrigerator ?    
  
(a)     H2SO4                                     (b) NH3 
 
(c)     N2                                               (d) None of these 

32. Diamond and Graphite are ________ are of carbon ?  
  
(a)     Isomers                                              (b) Allotropes 
(c)     Isotopes                                             (d) Polymer 

33. Ascorbic acid is the chemical name for : 
  
(a)     Vitamin A                                            (b) Vitamin B 
(c)     Vitamin C                                            (d) Vitamin D 
 



 

 

 

 

 

 

 

 

 

 

 

 

34. Which of the following acts as a reducing agent ? 
  
(a)     Cl2                                             (b) KMnO4 
 
(c)     K2Cr2O7                                            (d) None of these 

35. The valency of carbon is : 
  
(a)  1                                        (b) 2 
 

(c)  3                                    (d) 4  

36. The chief constituent of gobar gas is : 
  
(a)     Methene                                  (b) Ethene  
 
(c)     Propane                                       (d) Hydrogen  

37. Covalent bond involves _________ of electrons. 
  
(a)     Sharing                                   (b) Transfer 
 
(c)     Donation                           (d) Combination  

38. The energy required to break a chemical bond is called 
  
(a)     Kinetic energy                          (b) Rupturing energy 
 
(c)     Splitting energy                            (d) Bond energy 

39. Noble gas has ________ electrons in its outermost shell 
  
(a)     4                                     (b) 6 
 
(c)     8                                                (d) None of these 

40. The formula of plaster of Paris is 
  
(a)     CaSO42H2O                          (b) CaSO4 
 
(c)     CaSO4H2O                         (d) None of these 



PART – IV 
(MATHEMATICS) 

 

Choose the correct answer: -                                                (10 x 2 = 20 Marks) 

 

41. If x = 1, y = 2, z = 3, then what will be the value of x3+y3+z3-3xyz ? 
  
(a)  15                             (b) 17 
(c)  18                              (d) 19  

42. What is 20% of (50+70) ? 
  
(a)     22                                          (b) 24  
(c)     19                                         (d) 17  

43. By selling a car of Rs 1,56,600 a person suffers 13% loss.  His loss in Rs is :  
  
(a)     20,358.00                                  (b) 23,400.00 
(c)     1,36,242.00                      (d) 18,016.00  

44. Mohan is five times older than his son.  After 4 years the sum of their age will be 44 
years.  Find the present age of Mohan.  
  
(a)     42 years                               (b) 30 years 
(c)     25 years                               (d) 40 years 

45. Complete the series 1/5, 3/7, 6/11, 10/19, ______ 
  
(a)     24/26                              (b) 18/26 
(c)     16/30                                                (d) 35/35 

46. Population of town is 64000.  With an annual increase of 10%, what will be the 
population at the end of 3 years ?  
  
(a)     85100                                     (b) 85184 
(c)     8500                                    (d) 80000 

47. The HCF of 476, 1386, 1246 is 
  
(a)     11                                                      (b) 13 
(c)     14                                             (d) None of these 

48. If A:B = 6:7 and B:C = 8:9 then A:C is 
  
(a)     16:21                                            (b) 6:9 
(c)     21:16                                            (d) 9:6 
 

49. If 17% of certain number of mangoes is 1360, what is the number of mangoes ? 
  
(a)     8000                                            (b) 8130 
(c)     8110                                            (d) None of these 

50. Factorize 6x2 – 25x – 14 
  
(a)     (3x+2) (x+7)                                        (b) (3x-2)2 (x-7) 
(c)     (3x-2) (x-7)                                          (d) None of these 



 

SAMPLE QUESTION PAPER – CLK/STORE KEEPER 
(SECTION –A)                                  

TOTAL MARKS -200 
Part –I  

 
GENERAL KNOWLEDGE - 

 
Choose the correct answer:                                                    (5 x 4 = 20 Marks) 

 
 
 
 
 

1 ‘Bulls and Bears’ is a term used in: 

a)  Bulls Fight                                                          c) Stock Exchange    

b)  Politics                                                               d) None of these 

 

2 Akshardham Temple is situated in? 

a)  Andhra Pradesh                                                c) Haryana   

b)  Gujarat                                                              d) None of these 

 
3 Which river is called ‘Salt River’? 

a) The Godavari                                                    c) The Krishna      

b)  The Luni                                                           d) None of these 

 
4 Dispur city is located on the bank of which river? 

a)  The Brahmaputra                                             c) The Ganga  

b)  The Krishna                                                     d) The Narmada 

 
5 Name of Indian who got Gold Medal in Beijing Olympics 2008 in shooting? 

a) Abhinav Bindra                                                c) Anjali Bhagwat  

b) Rajyavardhan Singh Rathore                          d) None of these 

 



 
 

Part –II 
 

GENERAL SCIENCE 
 

Choose the correct answer:                                                    (5 x 4 = 20 Marks) 
 

 
 
 
 
 
 
 

1 Scurvy is caused due to deficiency of vitamin………….. 

a) A                                                                         c) D 

b) C                                                                         d) None of these 

2 During galvanizing, Iron sheets are dipped in molten……….. 

a) Zinc                                                                 c) Plastic  

b) Aluminum                                                        d) None of these 

 
3 Cirrhosis of liver is caused by…………… 

a) Cocaine                                                           c) LSD  

b)  Alcohol                                                           d) Morphine  

 
4 Arthritis is the disease of: 

a) Inflammation of joints                                      c) Liver    

b)  Kidney                                                            d) None of these 

 
5 The largest gland in the human body is: 

a) Pancreas                                                         c) Pituitary     

b)  Liver                                                               d) None of these 

 



 
Part –III 

MATHEMATICS 
 

Choose the correct answer:                                          (6 x 4 = 24 Marks ) 

 
 

1 Diagonal of cuboid is ………  

a) √ (12 + b2 + h2)                                             c) l*b*h    

b)  2l + 2b + 2h                                               d) x + iy 

2 Three coins of radius 2 cm each are kept on a table such that each touches the other 

two. Find the area of the space bounded by the coins…… 

a) (4 √3 - 2π)                                                  c) (4 π - √3 )   

b) (2√3 – π) /2                                                d) None of these/ 

3 If in any triangle the value of one angle is equal to other two angles, then what is the 

name of this triangle? 

a) Equilateral triangle/                                       c) Right angle triangle/                                 

b) Obtuse Triangle/                                           d) None of these/ 

4 What is the least number which must be subtracted from 438867 to make it a perfect 

square? 

a) 633                                                              b) 623         

            c)   665                                                            d) None of these/ 
5 The internal radius of a hemispherical bowl is 9 cm. This is filled with liquid .This liquid is 

to be filled in small cylindrical bottles, each having base diameter of 3cm and height 4 

cm. How many such bottles are needed? 

a) 27                                                                  c) 63 

b)  54                                                                 d) None of these/ 

 
6 In a G.P the first term is 5 and the common ratio is 2. The 8th term is: 

a) 160                                                                c) 640 

b)  b) 256                                                          d) 1280 



 
Part –IV 

COMPUTER SCIENCE 
 

Choose the correct answer:                                                 (9 x 4 = 36 Marks/) 
 

 
 
 

1 Which of the following is not an output device? 

a) Printer                                                             c) Touch Screen 

b)  CRT                                                               d) None of these 

2 A set of inter-related components that collect, process, store and distribute information to 

support decision making and control in an organization best defines: 

a) Communication Technology                          b) Hardware 

           c)  An information system                                   d) None of these 

3 Which one of the following DOS commands sends contents of the screen to an output 

device? 

a) Break                                                                c) ASSIGN   

c) MORE                                                               d) None of these 

4 Which one is not an impact printer? 

a) Laser printer                                                  c) Daisy Wheel     

b) Dot Matrix                                                      d) Either (b) or (c) 

 
5 In MS Excel pressing Ctrl + A does ...? 

a) Deletes the cell                                            c) Select the entire work sheet                                 

b)  Delete the entire row                                  d) None of above 

 
6 Storing same data in many places is called … 

a) Iteration                                                         c) Enumeration    

b)  Redundancy                                                 d) None of these 



 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

7 Software designed for specific purpose is called as? 

a) Application program                                     c) Assembly Program    

b) System Program                                            d) None of these. 

8 In the Mail merge option, user……….. 

a) Cannot create new data source     

b)  Can create a new or use an existing address list.    

c) All of the above                       

d)  None of above. 

9 Which of the following devices have limitations that  we can  only read information to it 

but cannot erase or modify it : 

a) Hard Disk                                                        c) CD-ROM    

b) Tape Drive                                                      d) None of these.          



 
ENGLISH  

(SECTION –B) 

Choose the correct answer:                                                        (100 Mrks) 
           

1 You must ………. What your elders say.                                                  (5 X 5 = 25)                                

a) Listen to                                            c) hear to 

b)  hear                                                  d) None of these. 

 

2 A card board box for holding goods.                                                                       

a) Carton                                            c) Chest      

b) Trunk                                             d) Package 

 

3 Name the adverbs underlined in the sentence, ‘She spoke well at the meeting last night’.                                                                                                       

a) Manner                                            c) Place      

b) Duration                                           d) Time 

 

4 1. The judge sentenced him ………..death.                                                             

a) On                                                    c) for     

b)  to                                                     d) time 

5 What is the indirect / reported speech for He said to me, ‘I will go again soon’.                                                                                                                                     

a) He said to me I will go home soon     

b)  He said he will go soon              

c)  He said that he would go again soon 

d) None of these. 

 



 

6 Write short notes on any three topics. Limit each to not more than150 words. 

                                                                                                    (3x10 = 30 marks) 

a) My hobby  

b) Lok Pal Bill     

c) Kumbh Mela 

d) Olympics. 

e) Right to Education 

f) Right to information 2005. 

 

7 You had a chance to see a cricket match played at night in artificial light. Write main 

features of the Stadium while giving highlights of this match in about 150 words.                                                                                                         

                                                                                                                      (30 Marks) 

 

8 You are Varun living in A-145, Gandhi Chowk, Nasik. Write a letter to your friend telling 

him about your future plans after you leave school.                                      (15 Marks) 

 



SAMPLE QUESTION PAPER – SOLDIER TECHNICAL 
 

                                                          PART - I                           

ÃÖÖ´ÖÖ−µÖ –ÖÖ−Ö  
GENERAL KNOWLEDGE  

                                                   (10 X 2 = 20 MARKS) 

ÃÖÆüß ×¾Ö�ú»¯Ö “Öã−ÖÖê : Choose the correct answer: 

 
01. Who among the following was associated with abolishing ‘Sati’ in India ? 

³ÖÖ¸üŸÖ ´Öë ÃÖŸÖß ¯ÖÏ£ÖÖ �ÖŸ´Ö �ú¸ü−Öê �úÖ ÁÖêµÖ ×�úÃÖê •ÖÖŸÖÖ Æüî ? 
 (a) »ÖÖ›Ôü �úîØ−Ö÷Ö / Lord Canning    (b) »ÖÖ›Ôü ÆêüÜÃ™ü÷ÃÖ / Lord Hastings  
(c) »ÖÖ›Ôü ×¾Ö×»ÖµÖ´Ö ²ÖêÛ−™ü�ú / Lord William Bentick   (d) ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà  / None of these 

02. Where is Gol Gumbaz located ? 
÷ÖÖê»Ö ÷Öã́ ²Ö•Ö �úÆüÖÓ ÛÃ£ÖŸÖ Æüî ? 
 (a) †ÖÓ¬ÖÐ ¯ÖÏ¤êü¿Ö / Andhra Pradesh    (b) ´ÖÆüÖ¸üÖÂ™Òü / Maharashtra  
(c) �ú−ÖÖÔ™Ëü�ú / Karnataka      (d) ÷Öã•Ö¸üÖŸÖ / Gujarat    

03. Durand Cup is associated with which sport? 
›æü̧ Óü›ü �ú¯Ö ×�úÃÖ �Öê»Ö ÃÖê •Öã›üÖ Æüî ? 
 (a) ÆüÖò�úß / Hockey             (b) ±Ìåú™ü²ÖÖò»Ö/Football    
 (c)  ×�Îú�Îêú™ü/Cricket      (d) ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà  / None of these 

04. The Tigris river mainly flows through which Country ? 
×™ü÷Ö×¸üÃÖ −Ö¤üß ×�úÃÖ ¤êü¿Ö ´Öë ²ÖÆüŸÖß Æïü ? 
 (a) ŸÖã�úá / Turkey       (b) ÃÖß×¸üµÖÖ / Syria  
(c) ‡¸üÖ�ú / Iraq       (d) ‡¸üÖ−Ö / Iran   

05. Who won the nobel peace prize in the year 2014? 
2014 ´Ö¬Öê −ÖÖê²Ö»Ö ¯ÖÖ×¸üŸÖÖê×ÂÖ�ú ×¾Ö•ÖêŸÖê �úÖêfÖ üü? 
 
(a)   ÃÖÓ•ÖµÖÖ ¸üÖ•ÖÖ¸üÖ´Ö /Sanjaya Rajaram         (b) �ú´Ö»Ö ²ÖÖ¾ÖÖ/Kamal Bawa   
(c)   ×¸ü“Ö›üÔ †ò™ü−Ö²ÖÖȩ̂ üÖê/Richard Attenborough  (d)  �úî»ÖÖÃÖ ÃÖŸµÖÖ¸ü£Öß / Kailash Satyarathi 

06. Who is the author of the book Shakuntalam ? 
‘¿Ö�ãÓúŸÖ»Ö´Ö’ µÖÆü ×�úŸÖÖ²Ö ×�úÃÖ−Öê ×»Ö�Öß ? 
 (a) ÃÖæ̧ ü¤üÖÃÖ / Surdas      (b) �úÖ×»Ö¤üÖÃÖ / Kalidas  
(c) ×¾ÖÂfÖã ¿Ö´ÖÖÔ / Vishnu Sharma     (d) ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà  / None of these 

 
07. Which Country’s Prime Minister resides in 10-Downing Street ? 

10 - ›üÖ‰úØ−Ö÷Ö Ã™Òüß™ü ×�úÃÖ ¸üÖÂ™Òü �êú ¯ÖÏ¬ÖÖ−Ö ´ÖÓ¡Öß �úÖ ×−Ö¾ÖÖÃÖ Ã£ÖÖ−Ö Æïü ? 
 (a) †´Öê×¸ü�úÖ / America      (b) •Ö¯ÖÖ−Ö / Japan 

(c) µÖæ−ÖÖ‡™êü›ü Ø�ú÷Ö›ǘ Ö / United Kingdom    (d) ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà  / None of these 

 



08. By how much time ‘Indian Standard Time’ is ahead of ‘Greenwich Mean Time’? 

³ÖÖ¸üŸÖßµÖ −ÖÖ´Ö�ú ÃÖ´ÖµÖ , ÷ÖÏß−Ö×¾Ö“Ö ÃÖ´ÖµÖ ÃÖê ×�úŸÖ−ÖÖ †Ö÷Öê Æïü ?  
 (a) 5 ‘ÖÓ™êü /  5 Hours      (b) 6 ‘ÖÓ™êü /6 Hours 

(c) 5  1/2  ‘ÖÓ™êü / 5  1/2 Hours     (d) ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà  / None of these 

 
09. The last emperor of the Mughal Dynasty was : 

´Öã÷Ö»Ö ¾ÖÓ¿Ö �êú †Ó×ŸÖ´Ö ¸üÖ•ÖÖ �úÖ −ÖÖ´Ö : 
 (a) †�ú²Ö¸ü / Akbar       (b) −ÖÃÖß¹ý§üß−Ö ¿ÖÖÆü / Nasiruddin Shah 

(c) ²ÖÆüÖ¤ãü̧ ü ¿ÖÖÆü •Ö±Ìú¸ü / Bahadur Shah Jafar   (d) ²ÖÖ²Ö¸ü /  Babar  

10. 2016 Olympic games will be played at :  

2016 �êú †Öê»ÖÛ´¯Ö�ú �Öê»Ö �úÆüÖÓ �Öê»Öê •ÖÖ‹Ó÷Öê ? 

 (a) ×¸ü†Öê-›ü-•ÖÖ−Öȩ̂ üÖê / Rio-de-Janero     (b) ¯Öê×¸üÃÖ / Paris  

(c) −µÖæµÖÖò�Ôú / New York            (d) ŸÖêÆü̧ üÖ−Ö / Tehran   

³ÖÖî×ŸÖ�ú ×¾Ö–ÖÖ−Ö 
PHYSICS 

ÃÖÆüß ×¾Ö�ú»¯Ö “Öã−ÖÖê : Choose the correct answer:  15 x 2 = 30 Marks 

11. Which of the following is not an electromagnetic wave : 
×−Ö−´Ö×»Ö×�ÖŸÖ ´Öë ÃÖê �úÖî−Ö-ÃÖÖ ×¾Ö§åüŸÖ “ÖãÓ́ ²Ö�úßµÖ ŸÖ¸Óü÷Ö −ÖÆüà Æüî ?                                     
(a) Gamma ray / ÷ÖÌÖ´ÖÖ ×�ú¸üfÖ     (b) Light ray / ¯ÖÏ�úÖ¿Ö ×�ú¸üfÖ  
(c) X-ray / x - ×�ú¸üfÖ     (d) Cathode ray / �ú£ÖÖê›ü ×�ú¸üfÖ 

12. Following is not a Vector :  

×−Ö−´Ö×»Ö×�ÖŸÖ ´Öë ÃÖ×¤ü¿Ö −ÖÆüà : 
(a) Linear momentum / ¸üî×�Ö�ú ÃÖÓ¾Öê÷Ö    (b) Electric field / ×¾Ö§åüŸÖ �Öê¡Ö ú 
(c) Kinetic energy / ÷Ö×ŸÖ•Ö ˆ•ÖÖÔ     (d) Acceleration / Ÿ¾Ö¸üfÖ  

13. What is the source of radiant Energy of the Sun? 

ÃÖæµÖÔ �êú ŸÖ¸Óü÷ÖßµÖ ‰úÂ´ÖÖ �úÖ Ã¡ÖÖêŸÖ ŒµÖÖ Æüî ? 
(a) Explosion / ×¾ÖÃ±ÌúÖê™ü−Ö      (b) Nuclear Fusion / −ÖÖ×³Ö�úßµÖ ÃÖÛ´´Ö»Ö−Ö        
(c) Nuclear Fission /−ÖÖ×³Ö�úßµÖ ×¾Ö�Öf›ü−Ö        (d) None of these/‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà   

14. What is the mass of an electron?  

‡»ÖêŒ™ÒüÖò−Ö �úÖ ¦ü¾µÖ´ÖÖ−Ö ×�úŸÖ−ÖÖ ÆüÖêŸÖÖ Æüî? 
(a) 1/1850 gm       (b) 0.1 gm 

(c) 9.1x10-28 gm       (d) None of these /‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà  
   

15. What is the CGS Unit of intensity of a magnetic field? 

“ÖãÓ²Ö�úßµÖ �Öê¡Ö �êú ŸÖß¾ÖÎŸÖÖ �êú ×»ÖµÖê ÃÖß. •Öß. ‹ÃÖ. ´ÖÖ¯Ö�ú ŒµÖÖ ÆüÖêŸÖÖ Æüî? 
(a) Gauss / ÷ÖÖîÃÖ       (b) Dyne / ›üÖ‡−Ö  
(c) Coulomb / �æú»ÖÖò́ ²Ö     (d) None of these /‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà    
                                                                                 



16. When a stone is whirled around at the end of a string and is rotated, what is the pull of the string 
called? 

×�úÃÖß ¸üÃÃÖß �êú �úÖê−Öê ¯Ö¸ü ¯ÖŸ£Ö¸ü ²ÖÖÓ¬Ö�ú¸ü ˆÃÖê ‘Öã́ ÖÖ−Öê ÃÖê •ÖÖê Ø�Ö“ÖÖ¾Ö ¯Ö›üŸÖÖ Æüî , ˆÃÖê ŒµÖÖ �úÆüŸÖê Æüî ? 
(a) Centrifugal Force / �êú−¦ü¯ÖÃÖÖ¸üß ²Ö»Ö    (b) Friction Force / ‘ÖÂÖÔfÖ ²Ö»Ö   
(c) Gravitational Force / ÷Öã̧ üŸ¾ÖÖ�úÂÖÔfÖ ²Ö»Ö   (d) None of these /‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà    
                                                                           

17. When a wave travels from one medium to another, the quantity which will not change is? 

•Ö²Ö �úÖê‡Ô ŸÖ¸Óü÷Ö ‹�ú ´ÖÖ¬µÖ´Ö ÃÖê ¤æüÃÖ¸êü ´ÖÖ¬µÖ´Ö ´Öë ¯ÖÏ¾Öê¿Ö �ú¸üŸÖß Æüî, ŸÖÖê ×−Ö´−Ö ´Öë ÃÖê �úÖî−Ö-ÃÖÖ ¯Ö×¸ü´ÖÖfÖ −ÖÆüà 
²Ö¤ü»ÖŸÖÖ? 
(a) Amplitude/ †ÖµÖÖ´Ö       (b) Frequency / †Ö¾Öé×¢Ö  
(c) Speed / ü̧°ÌŸÖÖ¸ü            (d) Wavelength / ŸÖ¸Óü÷ÖßµÖ »ÖÓ²ÖÖ‡Ô  

18 Which of the following will generate electric current? 

×¾Ö§åüŸÖ ×�úÃÖÃÖê ˆŸ¯Ö®Ö ÆüÖê÷ÖÖ ? 
(a) Diode / ›üÖµÖÖê›ü       (b) Transistor / ™ÒüÖÓ×•ÖÃ™Òü¸ü  
(c) Dynamo / ›üÖµÖ−Öế ÖÖê     (d) Motor /  ´ÖÖê™ü¸ü  

19. What is the unit of luminous efficiency of an electrical bulb? 

×�úÃÖß ×²Ö•Ö»Öß �êú ²Ö»²Ö �úß •µÖÖê×ŸÖ ¤ü�ÖŸÖÖ �úÖ ´ÖÖ¡Ö�ú ŒµÖÖ Æüî ?  
(a) Watt / ¾ÖÖ™ü      (b) Lumen / »µÖǽ Ö−Ö 
(c) Lumen / Watt / »µÖǽ Ö−Ö/ ¾ÖÖ™ü         (d) Lux / »ÖŒÃÖ 

20. Tyndall effect is associated with which property of light? 

Ø™ü›ü»Ö ¯ÖÏ³ÖÖ¾Ö ¯ÖÏ�úÖ¿Ö �êú ×�úÃÖ ÷ÖãfÖ ÃÖê ÃÖÓ²ÖÓ¬Ö ¸ü�ÖŸÖÖ Æüî ? 
(a) Scattering of light / ¯ÖÏ�úÖ¿Ö ×²Ö�Ö¸üÖ¾Ö    (b) Dispersion / ×¾ÖÃÖ•ÖÔ−Ö 
(c) Suspension / ×−Ö»ÖÓ²Ö−Ö      (d) None of these/ ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà    

21. What is the SI unit of Potential Difference? 

‹ÃÖ †Ö‡Ô ¯Ö¬¤ü×ŸÖ ´Öë ×¾Ö³Ö¾ÖÖ−ŸÖ¸ü �úß ‡Ô�úÖ‡Ô ŒµÖÖ ÆüÖêŸÖß Æüî ? 
(a) Coulomb / �ãú»ÖÖ´²Ö      (b) Ohm / †Öế Ö  
(c) Volt / ¾ÖÖê»™ü       (d) Ampere / ‹Û´¯ÖµÖ¸ü  

22. On which factor buoyancy depends for a given body? 

×�úÃÖß ¾ÖÃŸÖã ¯Ö¸ü »Ö÷Ö−Öê ¾ÖÖ»ÖÖ ˆŸ¯»ÖÖ¾Ö−Ö ²Ö»Ö ×�úÃÖ ‘Ö™ü�ú ¯Ö¸ü ×−Ö³ÖÔ̧ ü �ú¸üŸÖÖ Æüî? 
(a) Weight / ³ÖÖ¸ü       (b) Density / ‘Ö−ÖŸ¾Ö 
(c) Volume / †ÖµÖŸÖ−Ö     (d) None of these / ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà  

23. In which zone of the earth does air exist? 

¾ÖÖµÖã́ ÖÓ›ü»Ö �êú ×�úÃÖ �Öê¡Ö ´Öë Æü¾ÖÖ ¯ÖÖµÖß •ÖÖŸÖß Æüî ?ú 
 
(a) Stratosphere / ÃÖ´ÖŸÖÖ¯Ö ´ÖÓ›ü»Ö     (b) Intermediate Zone / ´ÖÖ¬µÖ×´Ö�ú �Öê¡Öú              
(c) Troposphere / ™ÒüÖê³Ö´ÖÓ›»Ö     (d) None of these / ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà 
 



 
24. 
 
 

On which factor buoyancy depends for a given body ? 

×�úÃÖß ¾ÖÃŸÖã ¯Ö¸ü »Ö÷Ö−Öê ¾ÖÖ»ÖÖ ˆŸ¯»ÖÖ¾Ö−Ö ²Ö»Ö ×�úÃÖ ‘Ö™Ëü�ú ¯Ö¸ü ×−Ö³ÖÔ̧ ü �ú¸üŸÖÖ Æüî ? 

 

(a)  Weight/³ÖÖ ü̧                                                             (b)  Density/‘Ö−ÖŸ¾Ö  
(c)  Volume/ †ÖµÖŸÖ−Ö                                                      (d) None of these / ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà 
 

 
25. 
 
 
 

In which zone of the earth does air exist ? 

¾ÖÖµÖã́ ÖÓ›ü»Ö �êú ×�úÃÖ �Öê¡Ö ´Öë Æü¾ÖÖ ¯ÖÖµÖß •ÖÖŸÖß ü Æüî ? 

 

(a)  Stratosphere/  ÃÖ´ÖŸÖÖ¯Ö ³ÖÓ›ü»Ö                                  (b)  Intermediate zone/ ´ÖÖ¬µÖ×´Ö�ú �Öê¡Öü ? 

(c)  Troposphere/ ™ÒüÖê³Ö´ÖÓ›ü»Ö                                           (d) None of these / ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà 
 

PART - III 

÷Ö×�ÖŸÖ MATHEMATICS             

15 x 2 =30 Marks 

26. 6 †Ö¤ǘ Öß 10 ×¤ü−Ö ´Öë 150 ¹ý¯ÖµÖê �ú´ÖÖŸÖê Æïü, ŸÖÖê 8 †Ö¤ǘ Öß 7 ×¤ü−Ö ´Öë ×�úŸÖ−Öê ¹ý¯ÖµÖê �ú´ÖÖµÖë÷Öê ? 
6 Men earn Rs. 150 in 10 days. How much money will be earned by 8 men in 7 days? 
(a) Rs. 160       (b) Rs. 140 
(c) Rs. 170        (d) Rs. 180 

27. ¤üÖê ÃÖÓ�µÖÖ†Öë �úÖ •ÖÖê›ü 44 Æïü, µÖ×¤ü ‹�ú ÃÖÓ�µÖÖ ¤æüÃÖ¸üß ÃÖÓ�µÖÖ ÃÖê ŸÖß−Ö ÷ÖãfÖÖ Æïü, ŸÖÖê ÃÖÓ�µÖÖ‹Ó ŒµÖÖ ÆüÖê÷Öß ?  
Sum of two numbers is 44. If one number is three times other number, then the numbers are :  
(a) 13, 31        (b) 6, 38 
(c) 04, 40        (d) 11, 33 

28. y2 + 2y - 3 �úÖ ÷ÖãfÖ−Ö�Öf›ü :  
Factors of y2 + 2y - 3 : 
(a) (1+y) (3-y)       (b) (y-1) (y+3) 

(c) (y+1) (y-3)       (d) ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà  / None of these 

29. ÷ÖÌÖê»ÖÖ �úÖ †ÖµÖŸÖ−Ö �úÖ ÃÖæ¡Ö ŒµÖÖ Æïü ? 
The formula to find volume of a sphere is : 
(a) 4/3 π r2       (b) 4/3 π r3 
(c) 4 π r3       (d) 4 π r  

30. ‹�ú ÷ÖÖÓ¾Ö �úß �ãú»Ö •Ö−ÖÃÖÓ�µÖÖ 27500 Æïü … µÖ×¤ü ¯Öã¹ýÂÖÖë †Öî̧ ü ÛÃ¡ÖµÖÖë �úß •Ö−ÖÃÖÓ�µÖÖ �úÖ †−Öã̄ ÖÖŸÖ 3:2 Æïü, ŸÖÖê ¯Öã¹ýÂÖÖë �úß 
ÃÖÓ�µÖÖ ŒµÖÖ ÆüÖê÷Öß ? 
The population of a village is 27500. The ratio of men and women is 3:2. Find the number of men : 
(a) 27500       (b) 11000 
(c) 16500       (d) 17000 

31. ‹�ú ÃÖ´Ö�úÖêfÖ ×¡Ö³Öã•Ö ´Öë µÖ×¤ü ‹�ú �úÖêfÖ 500 �úÖ Æïü, ŸÖÖê ŸÖßÃÖ¸êü �úÖêfÖ �úÖ ´ÖÖ¯Ö ŒµÖÖ ÆüÖê÷ÖÖ ? 
In a right angled triangle, if one angle is 500, what will be the measurement of third angle? 
(a) 400        (b) 900  
(c) 500        (d) 600 

 



 

 
 
 
 
 
 
 

32. µÖ×¤ 2y-4x=24ü †Öî̧  y+ 3x = 7 Æïü, ŸÖÖê ü(y,x) �úÖ ´ÖÖ−Ö –ÖÖŸÖ �ú¸üÖê :  
Find the value of (y,x), if 2y-4x=24 and y+ 3x = 7 :  
(a) (-1, 10)        (b) (a, 10) 
(c) (10, 1)        (d) (10, -1)  

33. µÖ×¤ü (11010)2
 =(x) 10 ŸÖÖê ‘x’ –ÖÖŸÖ �ú ȩ̈ü : If (11010)2

 =(x) 10 find x :  

 (a) 28        (b) 24 
 (c) 26        (d) 30  

34. 5:12 = x : 96 ´Öë ‘x’ �úÖ ´ÖÖ−Ö ŒµÖÖ ÆüÖê÷ÖÖ ? ; What will be the value of ‘x’ in 5:12 = x : 96? 

(a) 40        (b) 36 
(c) 38        (d) 48 

35. (x + 3) †Öî̧ ü (x - 3) �úÖ ÷ÖãfÖ−Ö±Ìú»Ö ŒµÖÖ ÆüÖê÷ÖÖ ? ; What will be the product of (x + 3) and (x - 3)? 

(a) x2 + 9        (b) x2 - 6x + 9  

(c) x2 - 9        (d) ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà  / None of these 

 
36. 208 x 0.08 �úÖ ´ÖÖ−Ö –ÖÖŸÖ �ú¸üÖê ;  Find the value of : 208 x 0.08 

     4.00                                             4.00 
(a) 41.6       (b) 4.16 
(c) 0.56       (d) .416 

37. ¤üÖê−Ö ÃÖÓ�µÖÖ†Öë �úÖ µÖÖê÷Ö 180 Æïü †Öî̧ ü ˆÃÖ�úÖ †−ŸÖ¸ü 20 Æïü… ÃÖÓ�µÖÖ‹Ó ŒµÖÖ Æïü ? 
What are two numbers, if their sum is 180 and their difference is 20? 
(a) 110, 80        (b) 110, 70 

(c) 90, 70       (d) ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà  / None of these 

38. 1331 �úÖ ‘Ö−Ö´Öæ»Ö ŒµÖÖ ÆüÖê÷ÖÖ ?  
Find the cube root of 1331 : 
(a) 13        (b) 12 
(c) 11        (d) 14 

39. ×−Ö´−Ö ´Öë �úÖî−Ö-ÃÖÖ †Ó�ú 3 ÃÖê ×¾Ö³ÖÖ×•ÖŸÖ Æïü ? 
Which of the following numbers is divisible by 3 ?  
(a) 3745        (b) 8473 
(c) 9876       (d) 2456  

40. 0.45 / 0.0009 �úÖ ´ÖÖ−Ö ŒµÖÖ ÆüÖê÷ÖÖ ? 
What will be the value of 0.45 / 0.0009? 
(a) 50000       (b) 5000 
(c) 500       (d) 50 



Part -IV 
 

¸üÃÖÖµÖ−Ö ×¾Ö–ÖÖ−Ö  
CHEMISTRY  

ÃÖÆüß ×¾Ö�ú»¯Ö “Öã−ÖÖê : Choose the correct answer:                    10 x 2 = 20 Marks 

41.. The number of negative charges in an atom is equal to :  
¯Ö¸ǘ ÖÖfÖã �úÖ ŠúfÖÖ¾Öê¿Ö ×�úÃÖ�êú ²Ö¸üÖ²Ö¸ ÆüÖêŸÖÖ ü Æüî ?  
(a) Atomic Weight / ¯Ö¸ǘ ÖÖfÖã ³ÖÖ¸ü     (b) Electron / ‡»ÖêŒ™ÒüÖò−Ö  
(c) Neutrons / −µÖæ™ÒüÖ−Ö     (d) None of these/ ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà    

42. Which of the following is produced on heating Calcium Carbonate? 
�êú»Ö×¿ÖµÖ´Ö �úÖ²ÖÖì−Öê™ü ÷Ö´ÖÔ �ú¸ü−Öê ¯Ö¸ü ŒµÖÖ ˆŸ¯Ö®Ö �ú¸üŸÖÖ Æüî ?  
(a) Oxygen / †ÖòŒÃÖß•Ö−Ö      (b) Hydrogen / ÆüÖ‡›ÒüÖê•Ö−Ö 
(c) Carbon dioxide / �úÖ²ÖÔ−Ö ›üÖ‡Ô†ÖòŒÃÖÖ‡›ü         (d) None of these/ ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà    

43. What is the chemical formula of chloroform? 

Œ»ÖÖȩ̂ üÖê±ÌúÖế ÖÔ �úÖ ¸üÖÃÖÖµÖ×−Ö�ú ÃÖæ¡Ö ŒµÖÖ Æüî ? 
(a) CH4CI        (b) CHCI3  
(c) CHCI4       (d) None of these/ ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà   
  

44. Which of the following substance can be separated by physical method? 
×−Ö−´Ö ´Öë �úÖî−Ö-ÃÖÖ ¯Ö¤üÖ£ÖÔ ³ÖÖî×ŸÖ�ú ×¾Ö¬Öß ü¾¤Ö¸üÖ †»Ö÷Ö ×�úµÖÖ •ÖÖ ÃÖ�úŸÖÖ Æüî ?ü 
(a) Mixture / ×´ÖÁÖfÖ      (b) Compound / µÖÖî×÷Ö�ú 
(c) element / ŸÖŸ¾Ö      (d) None of these/ ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà    

45. What are the substances taking part in chemical reaction known as ? 
¸üÖÃÖÖµÖ×−Ö�ú †×³Ö×�ÎúµÖÖ ´Öë ³ÖÖ÷Ö »Öê−Öê ¾ÖÖ»Öê ¯Ö¤üÖ£ÖÖì �úÖê ŒµÖÖ �úÆüŸÖê Æüî ? 
(a) Reactants / †×³Ö�úÖ¸ü�ú     (b) Product / ˆŸ¯ÖÖ¤ü 
(c) Catalyst / ˆŸ¯ÖÏȩ̂ ü�ú     (d) Reagent / ¯ÖÏ×ŸÖ×�ÎúµÖÖ¿Öß»Ö ¦ü¾µÖ 

46. Which is the sweetest sugar? 
‡−Ö´Öë ÃÖê ÃÖ²ÖÃÖê ´ÖßšüÖ Æüî : 
(a) Fructose / ±ÏÌåúŒ™üÖêÃÖ      (b) Glucose / ÷»Öã�úÖêÃÖ 
(c) Lactose  / »ÖêŒ™üÖêÃÖ      (d) Sucrose / ÃÖæ�ÎúÖêÃÖ 

47. What are CI35  and CI37 ? 
CI35  and CI37 ŒµÖÖ Æüî ? 
(a) Isomers / †ÖµÖÃÖÖế Ö¸ü     (b) Isotopes / †ÖµÖÃÖÖê™üÖê̄ Ö  
(c) Isobar / †ÖµÖÃÖÖê²ÖÖ¸ü     (d) ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà  / None of these 

48. Which of the following is not a colloid? 
×−Ö−´Ö ´Öë ÃÖê �úÖî−Ö-ÃÖÖ �ú×»Ö»Ö −ÖÆüà Æüî ? 
(a) Milk / ¤æü¬Ö       (b) Blood / ¸üŒŸÖ 
(c) Ice Cream / †Ö‡ÔÃÖ�Îúß´Ö     (d) Honey / ¿ÖÆü¤ü 



49. Which one of the following salts is blue in colour? 
×−Ö−´Ö ´Öë ÃÖê ×�úÃÖ −Ö´Ö�ú �úÖ Ó̧ü÷Ö −Öß»ÖÖ ÆüÖêŸÖÖ Æüî ? 
(a) Ferrous Sulphate / ±Ìêú¸üÃÖ ÃÖ»±Ìêú™ü    (b) Copper Sulphate / �úÖò̄ Ö¸ü ÃÖ»±Ìêú™ü  
(c) Cobalt Chloride / �úÖê²ÖÖ»™ü Œ»ÖÖȩ̂ üÖ‡Ô›ü    (d) Alum / ×±Ìú™ü�ú¸üß 

50. What is the chemical formula of ethane? 
‡£Öê−Ö �úÖ ¸üÖÃÖÖµÖ×−Ö�ú ÃÖæ¡Ö ŒµÖÖ Æüî ? 
(a) CH4       (b) C2H6 

(c) C3H4       (d) CH3 
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Choose the correct answer: 
1. ×�úÃÖ−Öê �úÆüÖ £ÖÖ - ŸÖã́ Ö ´Öã—Öê �Öæ−Ö ¤üÖê, ´Öî ŸÖã́ Æêü †Ö•ÖÖ¤üß ¤æÓü�ÖÖ :  

Who said “give me blood and I will give you freedom” 

(a) Bal Gangadhar Tilak /   ²ÖÖ»Ö �ÖÓ�ÖÖ¬Ö¸ü ×ŸÖ»Ö�ú   (b) Subhash Chandra Bose / ÃÖã³ÖÖÂÖ “Ö−¦ü ²ÖÖêÃÖ  

(c) Chandra Shekhar Azad / “Ö−¦ü ¿Öê�Ö¸ü †Ö•ÖÖ¤ü  (d) Bhagat Singh / ³Ö�ÖŸÖ ØÃÖÆü 
2. ³ÖÖ³ÖÖ †ÖÛ+¾Ö�ú †−ÖãÃÖÓ¬ÖÖ−Ö �ëú¦ü ÛÃ£ÖŸÖ Æüî :  

Bhabha Atomic Research Centre is situated in : 

(a) Trombay / ™ÒüÖế ²Öê     (b) Bangaluru / ²Öë�Ö»Öã̧ ü 
(c) Hyderabad / Æüî¤ü¸üÖ²ÖÖ¤ü     (d) Ahmedabad / †Æü´Ö¤üÖ²ÖÖ¤ü 

3. ¤ü»ÖÖ»Ö Ã™Òüß™ü �úÆüÖÓ Æüî ? 
Where is Dalal street? 

(a) Delhi / ×¤»»Ößü     (b) Mumbai / ´ÖãÓ²Ö‡Ô 
(c) Kolkata / �úÖê»Ö�úÖŸÖÖ    (d) None of these / ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà 

4. �úÖî−Ö - ÃÖÖ ¸üÖ•µÖ 5Öê¡Ö �êú †Ö¬ÖÖ¸ü ¯Ö¸ü ÃÖ²ÖÃÖê ²Ö›üÖ Æüî ?ü 
Which is the largest State area wise? 

(a) Uttar Pradesh / ˆ¢Ö¸ü ¯ÖÏ¤êü¿Ö   (b) Madhya Pradesh / ´Ö¬µÖ ¯ÖÏ¤êü¿Ö  
(c) Rajasthan / ¸üÖ•ÖÃ£ÖÖ−Ö    (d) Kerala / �êú¸ü»Ö  

5. ÃÖÓÃÖÖ¸ü �úß ÃÖ²ÖÃÖê ‰Óú“Öß “ÖÖê™üß �úÖî−Ö ÃÖß Æüî ? 
Which is the highest peak in the world? 

(a) Karakoram / �úÖ¸üÖ�úÖȩ̂ ü´Ö     (b) Mount Everest / ´ÖÖ‰Óú™ü ‹¾Ö¸êüÃ™ü 
(c) Kanchanjanga / �Óú“Ö−Ö•ÖÓ�ÖÖ   (d) Nanda Devi / −ÖÓ−¤üÖ ¤êü¾Öß 

6. ÃÖÓÃÖÖ¸ü �úÖ ÃÖ²ÖÃÖê �ÖÆü¸üÖ ´ÖÆüÖÃÖÖ�Ö¸ü �úÖî−Ö ÃÖÖ Æüî ? 
Which is the deepest Ocean in the world? 

(a) Indian Ocean / ØÆü−¤ü ´ÖÆüÖÃÖÖ�Ö¸ü    (b) Arabian Sea / †¸ü²Ö ÃÖÖ�Ö¸ü 
(c) Atlantic Ocean / †™ü»ÖÖÓ×™ü�ú ´ÖÆüÖÃÖÖ�Ö¸ü  (d) Pacific Ocean / ¯ÖÏ¿ÖÖÓ−ŸÖ ´ÖÆüÖÃÖÖ�Ö¸ü 

7. ³ÖÖ¸üŸÖ ´Öë †Ó×ŸÖ´Ö ´Öã�Ö»Ö ²ÖÖ¤ü¿ÖÖÆü �úÖî−Ö £ÖÖ ? 
Who was the last Mughal Emperor in India? 

(a) Sher Shah Suri / ¿Öȩ̂ ü¿ÖÖÆü ÃÖã̧ üß     (b) Akbar / †�ú²Ö¸ü  

(c) Auranajeb / †Öî̧ Óü�Ö•Öê²Ö     (d) Bahadurshah Zafar / ²ÖÆüÖ¤ãü¸ü¿ÖÖÆü •Ö±Ìú¸ü 
8. �úÖê»Ö´²ÖÃÖ −Öê †´Öê×¸ü�úÖ �úß �ÖÖê•Ö �ú²Ö �úß £Öß :  

Columbus discovered America in : 

(a) 1592      (b) 1492 

(c) 1798      (d) 1600 

9. ³ÖÖ¸üŸÖ ´Öë ¯ÖÆü»ÖÖ ™üß¾Öß ÃÖë−™ü̧  �ú²Ö †Öî̧ ü �úÆüÖÓ »Ö�ÖÖµÖÖ �ÖµÖÖ £ÖÖ ?ü  
When and where was India’s first TV Centre established? 

(a) In Agra 1956 / †Ö�Ö¸üÖ ´Öë 1965   (b) In New Delhi 1959 / −Ö‡Ô ×¤ü»»Öß ´Öë 1959 

(c) In Mumbai 1954 / ´Öã́ ²Ö‡Ô ´Öë 1954  (d) In kolkata 1957 / �úÖê»Ö�úÖŸÖÖ ´Öë 1957 

10. “Öß−Ö �úß ´Öã¦üÖ ŒµÖÖ Æüî ? 
What is the currency of China? 

(a) Krone / �ÎúÖê−Ö     (b) Yen / µÖê−Ö 
(c) Rupee / ¹ý¯ÖµÖÖ      (d) None of them / ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà 

 
11. ×¡Ö¯Öã̧ üÖ ¸üÖ•µÖ �úß ¸üÖ•Ö¬ÖÖ−Öß �úÖî−Ö - ÃÖß Æüî ? 

Which is the capital of Tripura? 

(a) Shillong / ×¿Ö»ÖÖÓ�Ö      (b) Imphal / ‡´±ÌúÖ»Ö  

(c) Agartala / †�Ö¸üŸÖ»ÖÖ    (d) Kohima / �úÖê×Æü´ÖÖ 



12. ³ÖÖ¸üŸÖ �êú ¯ÖÏ£Ö´Ö ˆ¯Ö-¸üÖÂ™Òü¯Ö×ŸÖ £Öê ? 

The first Vice President of India was: 

(a) Dr. S Radha Krishna / ›üÖò ‹ÃÖ. ¸üÖ¬ÖÖ �éúÂ+Ö−Ö (b) V V Giri / ¾Öß. ¾Öß. ×�Ö¸üß  

(c) Dr. Zakir Hussain / ›üÖò. •ÖÖ×�ú¸ü ÆãüÃÖê−Ö  (d) None of these / ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà  
13. ×¤ü−Ö -‹-‡»ÖÖÆüß �êú ÃÖÓÃ£ÖÖ¯Ö�ú £Öê ? 

Who founder ‘Din-E-llahi’ 

(a) Akber / †�ú²Ö¸ü      (b) Aurangjeb / †Öî̧ Óü�Ö•Öê²Ö  

(c) Babar / ²ÖÖ²Ö¸ü     (d) Shershah / ¿Öȩ̂ ü¿ÖÖÆü 
14. ´ÖãÃÖ×»Ö´Ö »Öß�Ö �úß Ã£ÖÖ¯Ö−ÖÖ ------- ´Öë �úß £Öß? 

The Muslim League was founded in  

(a) 1940      (b) 1906 

(c) 1910      (d) None of these / ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà 
15. ³ÖÖ¸üŸÖ �êú ¸üÖÂ™ÒüßµÖ —Ö+›êü �êú ÃÖ²ÖÃÖê ‰ú¯Ö¸ �úÖî−Ö-ÃÖÖ Ó̧ü�Ö ÆüÖêŸÖÖ Æüîü?  

Which colour appears at the top of Indian national Flag? 

(a) Green / Æü¸üÖ     (b) Safron / �êúÃÖ×¸üµÖÖ 
(c) Blue / −Öß»ÖÖ     (d) Red / »ÖÖ»Ö 



 
MCA/GD/ 01        PART - II  

ÃÖÖ´ÖÖ−µÖ ×¾Ö–ÖÖ−Ö 
GENERAL SCIENCE  

ÃÖÆüß ×¾Ö
ú»¯Ö “Öã−ÖÖê : Choose the correct answer: 

 
16. ¾µÖÃ�ú †Ö¤ü´Öß �úÖ ×¤ü»Ö ‹�ú ×´Ö−Ö™ü ´Öë ×�úŸÖ−Öß ²ÖÖ¸ü ¬Ö›ü�úŸÖÖ Æüîü ? 

How many times a minute does the heart of young man beat? 

(a) 72 time / 72 ²ÖÖ¸ü      (b) 108 time /  108 ²ÖÖ¸ü 
(c) 50 time / 50 ²ÖÖ¸ü      (d) None of these / ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà 

17. ¸üŒŸÖ ------ �úÖ ¾ÖÖÆü�ú Æüîü? 

Blood is used to transport  

(a) Oxygen / †ÖŒÃÖß•Ö−Ö     (b) Nutrients / ¯ÖÖêÂÖ�ú ŸÖŸ¾Ö 
(c) Carbon dioxide / �úÖ²ÖÔ−Ö ›üÖµÖ†ÖŒÃÖÖ‡›ü  (d) None of these / ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà 

18. ×−Ö´´Ö ´Öë ÃÖê �úÖî−Ö ±Ìú»Öß ¾¤üÖ¸ü ¯ÖÖî¬ÖÖë �úÖ �ÖÏÖÆüß »Ö5Ö+Ö Æüî :  

Which of the following is a recessive trait is garden pea plant? 

(a) Tall stem / »Ö´²ÖÖ ŸÖ−ÖÖ    (b) Round seeds / �ÖÖê»Ö²Öß•Ö 
(c) Wrinkled seeds / —Öã̧ üá¤üÖ¸ü ²Öß•Ö    (d) Coloured seed coat / ²Öß•ÖÖë �êú ¸Óü�ÖßŸÖ �ú¾Ö“Ö 

19. •Ö²Ö ¯ÖÖ−Öß •Ö´ÖŸÖÖ Æüî, ŸÖÖê ˆÃÖ�úÖ †ÖµÖŸÖ−Ö ---- ÆüÖêŸÖÖ Æüîü? 

When water freezes, Its volume  

(a) Increases / ²ÖœÍüüŸÖÖ Æüî    (b) Decreases / �ú´Ö ÆüÖêŸÖÖ Æüî 
(c) Any thing can happen / �ãú”û ³Öß ÆüÖê ÃÖ�úŸÖÖ Æüî (d) None of these / ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà 

20. ÃÖ²ÖÃÖê ²Ö›üÖ †+›üÖ ----- �úÖ Æüîü? 

Largest egg is of? 

(a) Hen / ´Öã�Öá      (b) Peacock / ´ÖÖȩ̂ ü 
(c) Ostrich / ¿ÖãŸÖã́ ÖãÔ�Ö     (d) None of these / ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà 

21. ------- ×¾Ö™üÖ×´Ö−Ö A �úß �ú´Öß ÃÖê ÆüÖêŸÖÖ Æüîü? 

Is caused by deficiency of vitamin A. 

(a) Rickets / ×¸ü�êú™ËüÃÖ     (b) Scurvy / Ã�ú¾Öá 
(c) Night blindness / ¸üŸÖÖï¬Öß    (d) Beri-Beri / ²Öȩ̂ üß - ²Öȩ̂ üß 

22. ¯ÖÖî¬ÖÖêÓ �úÖ ¾ÖéÆüŸÖ ¸üÖê̄ Ö+Ö �úÆü»ÖÖŸÖÖ Æüîü? 

Extensive plantation of trees is called: 

(a) Agro-forestry / ‹�ÖÏÖê ±ÌúÖ¸êüÃ™Òüß   (b) Social forestry / ÃÖÖê×ÃÖ‹»Ö ±ÌúÖȩ̂ êüÃ™Òüß 
(c) Afforestation / ‹±ÌúÖȩ̂ êüÃ™êü¿Ö−Ö   (d) Deforestation / ×›ü±ÌúÖ¸êüÃ™êü¿Ö−Ö  

23. ¤ü×¾Ö�Öã+Ö−Ö †Öî̧ ü ²ÖØ›ü�Ö ˆ¤üÖÆ¸ü+Öü Æüîü? 

Binary fission and budding are examples of  

(a) Asexual reproduction / †»ÖîÓ×�Ö−Ö •Ö−Ö−Ö �úÖ (b) Sexual reproduction / »ÖîÓ×�Ö−Ö •Ö−Ö−Ö �úÖ 
(c) Copulation / ÃÖÓµÖã�´Ö−Ö �úÖ    (d) Heterothallism / ×¾ÖÂÖ´Ö•ÖÖ×ŸÖ �úÖ 

24. •Ö²Ö ×»Ö™ü´ÖÃÖ ¯Öê̄ Ö¸ü ¯Ö¸ü ‹×ÃÖ›ü �úß ‹�ú ²ÖÓæ¤ü ›üÖ»ÖŸÖê Æüî ŸÖÖê : 
What happens to the colour of litmus paper when you put a drop of acid on it? 

(a) it is unaffected / †¯Ö×¸ü¾ÖÙŸÖŸÖ ¸üÆüŸÖÖ Æüî  (b) Trurns red to blue / µÖÆü »ÖÖ»Ö ÃÖê −Öß»ÖÖ ÆüÖêŸÖÖ Æüî 
(c) It gets destroyed / µÖÆü −ÖÂ™ü ÆüÖê •ÖÖŸÖÖ Æüî  (d) Turns blue to red / µÖÆü −Öß»ÖÖ ÃÖê »ÖÖ»Ö ÆüÖêŸÖÖ Æüî 

25. ÃÖæ̧ ü•Ö �úß ¸üÖê¿Ö−Öß ´Öë ---- ¸Óü�Ö ÆüÖêŸÖê Æüîü? 

Sunlight consists of --------- colours. 
(a) 5       (b) 7 

(c) 1       (d) None of these / ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà 

26. ŸÖÓ²ÖÖ�æú �úÖ ´Öã�µÖ ‘Ö™ü�ú ---- Æüîü? 

Main constituent of Tobacco is? 

(a) Nicotine / ×−Ö�úÖê×™ü−Ö     (b) Aspirin / ‹ÛÃ¯ÖÏ−Ö  

(c) Morphine / ´ÖÖÙ±Ìú−Ö     (d) None of these / ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà 



 
  

27. ÃÖÖê×›üµÖ´Ö Œ»ÖÖȩ̂ üÖ‡›ü �úÖ ¸üÖÃÖÖµÖ×−Ö�ú ÃÖæ¡Ö ŒµÖÖ Æüîü? 

The chemical formula of sodium chloride is : 
(a) NaO4      (b) KNO3 
(c) KCL       (d) Nacl 

28. ¬ÖÖŸÖã ×´ÖÁÖ+Ö �úÖê ¯ÖÖ¸êü ´Öê ‘ÖÖê»Ö−Öê ¯Ö¸ü ŒµÖÖ ²Ö−ÖŸÖÖ Æüîü? 

What is a mixture of metal dissolved in mercury? 

(a) Alloy / ‹»ÖÖµÖ      (b) Mercury salt / ¯ÖÖ¸üÖ »Ö¾Ö+Ö 
(c) Amalgam / ‹´Ö»Ö�Ö´Ö     (d) None of these / ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà 

29 ¤ãü¬Ö ×�úÃÖ †´»Ö �êú �úÖ¸ü+Ö �Ö¼üÖ ÆüÖêŸÖÖ Æüîü? 

By which acid milk turns sour? 

(a) Casein / �úîÃÖß−Ö       (b) Citric acid / ÃÖÖ‡Ô×™Òü�ú †´»Ö 
(c) Rennin / ¸êü−Öß−Ö      (d) Lactic acid / »ÖêÛŒ™ü�ú †´»Ö 

30. ¯ÖÖ−Öß �úÖ ÃÖ²ÖÃÖê ¿Öã¬¤ü ¹ý¯Ö �úÖî−Ö - ÃÖÖ Æî 
What is the purest form of water? 

(a) Rain water / ¾ÖÂÖÖÔ �úÖ ¯ÖÖ−Öß   (b) Ganga water / �ÖÓ�ÖÖ �úÖ ¯ÖÖ−Öß  
(c) Boiled water / ²ÖÖòµÖ»›ü ¯ÖÖ−Öß    (d) None of these / ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà 

31. •Ö»Ö¾ÖÖÂ¯Ö ÃÖÓ‘Ö×−ÖŸÖ ÆüÖêŸÖß Æî, ŸÖÖê : 
When vapour condenses into a liquid: 

(a) It absorbs heat / ¾ÖÆü ‰úÂ´ÖÖ �úÖ †¾Ö¿ÖÖêÂÖ−Ö �ú¸üŸÖÖ Æüî (b) Its temperature drops / ˆÃÖ�úÖ ŸÖÖ¯Ö ‘Ö™üŸÖÖ Æüî 
(c) It evolves heat / ¾ÖÆü ‰úÂ´ÖÖ ˆŸÃÖÙ•ÖŸÖ �ú¸üŸÖÖ Æüî   (d) None of these / ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà 

32. Æü¸êü ¯Öê›ü-¯ÖÖî¬ÖÖï �êú ×»Ö‹ ´Öã�µÖŸÖµÖÖ �úÖî−Ö - ÃÖÖ ³ÖÖ�Ö ³ÖÖê•Ö−Ö ²Ö−ÖÖŸÖÖ Æüî 
Which part of a green plant usually prepare food fora plant? 

(a) Stem / ŸÖ−ÖÖ       (b) Leaves / ¯Ö×¢ÖµÖÖÓ 
(c) Root / •Ö›ü       (d) None of these / ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà 

33. ‹ŒÃÖ - ¸êü �úß �ÖÖê•Ö ×�úÃÖ−Öê �úß £Öß ? 

X-ray was discovered by? 

(a) Roentgen / ¸üÖê‹−™ü•Ö−Ö      (b) Einstein / †Ö‡ÔÃ™üß−Ö  
(c) Newton / −µÖæ™−Ö      (d) None of these / ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà 

34. ÃÖ²ÖÃÖê †×¬Ö�ú ´ÖÖ¡ÖÖ ´Öë ˆ¯ÖµÖÖê�Ö ÆüÖê−Öê ¾ÖÖ»ÖÖ £Ö´ÖÖì́ Öß×™Òü�ú ¯Ö¤üÖ£ÖÔ Æüî : 
The most commonly used thermometric substance is : 

(a) Nitrogen / −ÖÖ‡™ÒüÖê−Ö      (b) Mercury / ¯ÖÖ¸üÖ  

(c) Alcohol / †»�úÖêÆü»Ö      (d) Water / ¯ÖÖ−Öß 
35. ¯ÖÖî¬Öê †¯Ö−ÖÖ ³ÖÖê•Ö−Ö ×�úÃÖ ×¾Ö×¬Ö ¾¤üÖ¸üÖ ²Ö−ÖÖŸÖê Æüî 

Plants obtain their food by the process of? 

(a) Respiration / ¿¾ÖÃÖ−Ö      (b) Carbon assimilation / �úÖ²ÖÔ−Ö ‹ÃÃÖß×´Ö»Öê¿Ö−Ö   

(c) Excretion / ˆŸÃÖ•ÖÔ−Ö     (d) Photosynthesis / ¯ÖÏ�úÖ¿Ö ÃÖÓ¿»ÖêÂÖ+Ö  



MCA/GD/01      PART - III  

MATHEMATICS (�Ö×�ÖŸÖ) 
 ÃÖÆüß ×¾Ö
ú»¯Ö “Öã−ÖÖê  : Choose the correct answer:  

 

36. �Öã+Ö−Ö�+›ü –ÖÖŸÖ �ú¸üÖê x2 + 8x - 48 

Factorize x2 + 8x - 48 
(a) (x-4) (x+12)      (a) (x-4) (x-12) 

(c) (x+4) (x+12)      (d) None of these / ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà 
37. ‹�ú ´Öî¤üÖ−Ö ×•ÖÃÖ�úß »Ö´²ÖÖ‡Ô 90 ´Öß™ü̧ ü ‹¾ÖÓ “ÖÖî›üÖ‡Ô 60 ´Öß™ü¸ü Æüî, ‡ÃÖ�úÖ ²ÖÖÆü¸ü 3 ´Öß™ü¸ü “ÖÖî›üÖ ‹�ú ¸üÖÃŸÖÖ Æüî, 

¸üÖÃŸÖê �úÖ 5Öê¡Ö±Ìú»Ö –ÖÖŸÖ �ú¸êü.ú 
A field is 90 meters by 60 meters. Outside this field a concrete path 3 mtr wide is made all 
around. Find the area of the concrete path: 
(a) 1200 Sq. mtr      (b) 936 Sq. mtr 
(c) 850 Sq. mtr      (d) 900 Sq. mtr 

38. ×�úÃÖ ¤ü¸ü ¯ÖÏ×ŸÖ¿ÖŸÖ ÃÖê 500 ¹ý¯ÖµÖê �úÖ 4 ¾ÖÂÖÔ ´Öë ÃÖÖ¬ÖÖ¸ü+Ö ²µÖÖ•Ö 40 ¹ý¯ÖµÖê ÆüÖê •ÖÖ‹�ÖÖ ? 

Find the rate of interest when principal is Rs 500, time is 4 years and simple interest is Rs 
40: 
(a) 2%        (a) 3 ½% 
(c) 3%        (d) 2 ½% 

39. ‹�ú ‘Ö−Ö�ú �êú ×�úŸÖ−Öê †ÖµÖŸÖ ÃÖŸÖÆü, ×�ú−ÖÖ¸êü †Öî̧ ü ¿ÖßÂÖÔ ÆüÖêŸÖê Æüî ?  

How many rectangular surfaces, edges and vertices are there in a cuboid? 
(a) 4 rectangular surfaces, 8 edges and 4 vertices 
(b) 6 rectangular surfaces, 12 edges and 8 vertices 
(c) 4 rectangular surfaces, 14 edges and 8 vertices 
(d) 8 rectangular surfaces, 12 edges and 6 vertices 

40. ‹�ú ÃÖÓ�ÖßŸÖ ×¾Ö¬ÖÖ»ÖµÖ ´Öë �ãú»Ö ”Ö¡ÖÖë �úÖ 70 ¯ÖÏ×ŸÖ¿ÖŸÖ »Ö›ü�êú Æüî… µÖ×¤ü »Ö›ü×�úµÖÖë �úß ÃÖÓ�µÖÖ 255 ÆüÖê, ŸÖÖê 
»Ö›ü�úÖë �úß ÃÖÓ�µÖÖ ŒµÖÖ ÆüÖê�Öß ?  
In a music school 70% students are boys. If the total number of girls is 255 find out the 
number of the boys: 
(a) 850       (b) 840 
(c) 595       (d) 575 

41. ‹�ú ¾Ö�ÖÔ �úÖ 5Öê¡Ö±Ìú»Ö 121 ¾Ö�ÖÔ ÃÖë. ´Öß. Æüî … ˆÃÖ�úß ‹�ú ³Öã•ÖÖ �úß »Ö´²ÖÖ‡Ô ŒµÖÖ ÆüÖê�Öß ?ú 
Area of a square field is 121 square cm what will be length? 
(a) 9 cm       (b) 11cm 
(c) 11 mtr       (d) 10 cm 

42. ½ +1/5÷ 1/10 x 7/8 = ? 
(a) 8        (b) 21/6 

(b)  21/4         (d) None of these  / ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà 
43. Find out the value of : 27 1/3 / 8 1/3 .  

27 1/3 / 8 1/3  �úÖ ´ÖÖ−Ö  –ÖÖŸÖ �ú¸üÖê. 
(a) 27/8       (b) 2/3  
(c) 9/8        (d) 3/2 

44. (a+b)3 = 
(a) a3 + b3 +3a2b+3ab2     (b) 2a+2b+4ab 

(c) a+3b+2ab2      (d) none of these / ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà 
45. �ú5ÖÖ v ´Öë 40 ×¾Ö¬ÖÖ£Öá Æüî ‡ÃÖ´Öë ÃÖê 18 »Ö›ü×�úµÖÖÓ  Æüî, ŸÖÖê ²ÖŸÖÖ†Öê �ú5ÖÖ ´Öë »Ö›ü×�úµÖÖÓ �úß ¯ÖÏ×ŸÖ¿ÖŸÖ ÃÖÓ�µÖÖ ŒµÖÖ 

Æüî ? 
In class V, there are 40 students, out on which 18 are girls. Find the percentage of girls: 
(a) 45%       (b) 25% 
(c) 35%       (d) 55% 

46. ÁÖê+Öß �úÖê ¯Öæ̧ üÖ �ú¸Öê 2,4,7,11,16……….. 
Complete the series 2,4,7,11,16……….. 
(a) 22        (b) 23 
(c) 28        (d) 25 



 

47. x2-21x+108 �úÖ �Öã+Ö−Ö�Ö+›ü ÆüÖê�ÖÖ : 
Factors of x2-21x+108 will be : 
(a) (x-12) (x+9)      (b) (x-12) (x-9) 
(c) (x+12) (x+9)      (d) (x+12) (x-9) 

48. ×¡Ö³Öæ•Ö �úÖ 5Öê¡Ö±Ìú»Ö –ÖÖŸÖ �ú¸ü−Öê �úÖ ÃÖæ¡Ö ŒµÖÖ Æüî ? 
What is the formula to find out the area of a triangle? 
(a) ½ (base x height)     (b) ½ (base - height) 

(c) ½ (base + height)     (d) none of these / ‡−Ö´Öë ÃÖê �úÖê‡Ô −ÖÆüà 
49. ×�úŸÖ−Öê ÃÖ´ÖµÖ ´Öë ¸üÖ×¿Ö 500 ¹ý¯ÖµÖê ÃÖê 700 ¹ý¯ÖµÖê ²Ö−Ö •ÖÖµÖê�Öß •Ö²Ö ÃÖÖ¬ÖÖ¸ü+Ö ²µÖÖ•Ö 5% ¾ÖÖÙÂÖ�ú ÆüÖê ? 

In how many years Rs 500 will become Rs 700 by simple interest at the rate of 5% per 
annum: 
(a) 9 years       (b) 3 years 
(c) 6 years       (d) 8 years 

50. ÁÖê+Öß �úß †Ì�Ö»Öß ÃÖÓ�µÖÖ ŒµÖÖ ÆüÖê�Öß ? 
What will be the next number of given series? 
2, 4, 12, 48, 240………. 
(a) 720       (b) 1440 
(c) 580       (d) 1240 


